Батина Н.П.  242-966-977
Приложение 1.
	Вариант 1

	3 · (46 – 40) = …    М

	18 + 10 : 5 = …       Р

	44 – ( 12 + 18) = … А

	2 · 8 + 3 · 5 = …      К

	2 · 7 + 20 = …         О

	31
	34
	18
	14
	20

	
	
	
	
	



	Вариант 2

	2 · (38 – 30) = …   Ч

	45 – (39 – 19) =…  П

	14 + 12 : 2 = …      Л

	3 · 4 + 2 · 9 = …     Е

	2 · 5 + 30 = …         А

	25
	16
	30
	20
	40

	
	
	
	
	









Батина Н.П.  242-966-977
Приложение 1.

	Вариант 3

	2 · (48 – 40) =…           У

	32 – (17 + 13) =…        И

	6 · 8 - 4 · 5 = …            К

	7 · 4 + 3 · 6 = …           Е   

	9  + 10 : 10 = …           З

	8 · 4 - 28 = …               Н

	9 · 2 + 20 : 5 = …         Ч

	28
	16
	10
	4
	46
	22
	2
	28

	
	
	
	
	
	
	
	


 









